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const int MAXN= ,inf=1e9;

int dp[MAXN|[MAXN|,pre[MAXN! [MAXN|,p[MAXN|, res MAXN/;
pair<int,int> que!MAXN|,temp|[MAXN]|;

int main

int n=read int(),m=read int();
rep(i,l,mplil=read int();
_rep(i,0,m) rep(j,l,n)dplil[jl=inf;
plLOl=1;
dp n ;
_rep(i,1l,m

int head=0,tail=1,lim=abs(p/i]/-p[i- ;

_rep(j,1,lim

head>=tail&&que|head|.first>=dp|i- jl)head--;

que|++head ! =make pair(dpli- il,i);
_rep(j,1,n
j+lim<=n
head>=tail&&que head|.first>=dpli- j+lim| ) head- -;
que|++head |=make pair(dp[i- j+lim!, j+lim);

head>=tail&&que|tail|.second+lim<j)tail++;
dpii!jl=queltail|.first+lim;
pre[il|jl=queltail].second;

temp[n|=make pair(inf,0);
int lim=n-1;1lim>=0;lim- -
int lpos=p[i!/-lim, rpos=p[i/+lim;
temp| lim|=temp|[lim+1];

lpos>=
temp[lim|=min(temp|lim|,make pair(dp[i- lpos |+abs(plil-
lpos), lpos) ) ;
rpos<=n
temp[lim|/=min(temp|lim|,make pair(dp|1i- rpos/+abs(pli]-
rpos), rpos));
_rep(j,1,n

int lim=abs(j-pli- ;
dpli![jl>temp[lim|.first
dplil[j/=temp|[lim|.first;
pre(il[j]=temp[lim].second;

int ans=inf;

_rep(i,1,n
ans=min(ans,dp/m|[i]);
_rep(i,1,n
ans==dp(m/ i
int pos=i;
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int j=m;j;j--
res|[jl=dp!j![pos];
pos=pre|jllpos]|;

_rep(i,1,m
space(res(i]);
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